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BEEa3re 1,968,639 2,256,433] 287,794
JINE2XESLY 1,968,639 2,256,433| 287,794
3222 1,946,619| 2,182,188] 235,569|C HOHIESESSX|2SHH| 1,921,666,000%-1,830,536,0008= 91,130,000&
O ANEEAMNE JIsESL A 80,000,000&
O 20 ILIEIME 22 ALY 50,000,000
O AHEs WIS I A ] 10,000,000
O FAH=AHLI 4,439,000
JBAEXZZ 22,000 25,000 3,000|0 HAZONAIALZ=20IALHHI  15,000,0002~12,000,0008 = 3,000,000&
SDEEE= 10 49,235 49,225|0 SESHMAUXNRALEHAILH| (B2 DESE) 17,225,000&
O ZUEMHHESWALH(MFTENEH) 20,000, 000&
O SEFHASTNAMANSE (=M ES]) 3,000,000&
O ZE2N+HRAAMLH(HEZ=EHMOIHZE) 1,000, 000&
O FHUBMWAS BAEANLH(HESRMAMSS]) 3,000,000&
O L2 ASZHERAMEE(HF=ZMAASS]) 3,000,000&
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M2 ZE 149,700 167,700 18,000
ANMKNE=RZ 65,700 83,700 18,000|0 ESESTHEIMNEAMLH(SSSXHEAISZZEH A ) 18,000, 0003
07018 = 167,008 238,106 71,008
710182 167,008 238,106 71,008
MEET0ES 129,640 173,235 43,595|0C #EE0|E =2 173,235,627&-129, 640, 000& = 43,5395,000&
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O MESXAE S wFH] 1,200,000&-800,000&!= 400,000&
132 & H| 204,228| 252,180| 47,952
13104 | 35,9800 37,400 1,500|0 Z&f3IAE S FAGE 5,250,000 -3,750,000&= 1,500, 000%
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O E&g3 28s4= 4,000,000&-2,700,000&= 1,300,000&
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O SHllEE= 4 .337,2808 %0 . 78%= 33,830
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O JI=23%E £=2lH| 3,500,000 20} = 7.,000,000&
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0O gtE=P2H] 50,0008 x1Al= 50,000
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O 23t0l& |34 Hab 1,000,000 *13|= 1,000,000
O FEH2H| 50,0008 % 108I= 500, 0008
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O SZEH=H 1,800,0008125|= 3,600,0008
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